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SECTION A
1.
(a)Differentiate between ROM and RAM (2mks)
          (b)Convert the octal number 11118 to its base ten equivalent.
    (2mks)


(c)
Convert 11.01110 to a decimal number.



Solutions 

2.
(a)
Define the following terms with reference to computer crime.



(i)
Cracking
(ii)
Hacking


(b)
State any laws governing protection of information
(2mks)

3.
Distinguish between Job Scheduling and Job Sequencing
(2mks)

4.
List any four precautions that must be observed in a computer lab



(2mks)

.

5.(a)
What is the major difference between a webpage and a website.(2mks)

    (b)
Mention four database model that you have learnt





(2mks)

6.
Differentiate between a computer operation and computer technician.



(2mks)

7.
Define the term mail-merge








(2mks)

.

8. (a)
What is the advantage of electric spread sheet over manual work




(2mks)

 (b)
What is cell referencing

.






(1mk)

9.
State the TYPES of Desk Top Publishing (DTP)
(2mks)

10.
List THREE elements of networking

(3mks)

11.
Briefly explain any THREE application areas of ICT (Information and communication Technology)

.

12.
List any two types of


(a)
Magnetic disk

(1mk)
 (b)
Magnetic disk










 
 (1mk)

13.
Distinguish between Disk formatting and Disk portioning




(2mks)

14.(a)
State and define any two types of computer processing file




(1mk)

15.
List any TWO file organization methods






(2mks)

.

SECTION  B  (60 MARKS)

          ANSWER QUESTION 16 AND ANY THREE QUESTIONS FROM THIS PART.

16.(a)
Consider the module flow chart extracts below



State the looping structure demonstrated above
(2mks)

(b)
State FOUR examples of third generation languages




(2mks)
(c)
Define the following terms as used in programming




(2mks)

(i)
Assembler


(ii)
Translator

(d)
(i)
With the aid of a pseudo code and a flow chart design an algorithm that prompt the user to enter two numbers x and y


Divide X and Y and display the pseudo code.  However, if the value of Y is 0, the program should display an error message “Error division by zero”
 
17.(a)
Below are two tables structures of files in a database


Employee

Field



Data type

Field


Data type

Employee name


Text


Employee No

Number

Employee number

Auto Number

Data employed

Date/time

DOB



Date/time

Department

Text

Address


Text


Salary


Currency

(i)
Which of the two tables is likely to be parent table




(1mk)

 (ii)
It is advisable to enforce referential integrity, when creating a relationship. At do you understand by 

the term reverential integrity.
(2mks)

 (iii)
The field “employee no” in the employee details table is likely to be the primary key, what is a primary key.


(2mks)

(iv)
Which fields in both tables is most appropriate for creating a relationship?

(1mk)

What would make relationship between the table fail to work



(2mks)

.

(b)
In databases the field properties specify finer details related to the fields and the table entries expected.  State FOUR field properties.









(4mks)

(c)
State THREE functions of a database


(3mks)

18. (a) Consider the topologies  demonstration in the diagram below.


Identify the network topologies








(3mks)


A

B


C

(ii)
In topology A identify the network device that should be at the end points 1 and 2


(iii)
Which of the above topologies is likely to be used in a wide are net


(1mk)

(iv)
Highlight THREE disadvantages of topology B





(3mks)

 (v)
Identify the device labeled X in topology A





(1mk);

    
(b)  State TWO main classes of network software





(2mks)


(c)  Briefly describe the following as used in networking (4mks)




Repeaters

\

             Network hub

.

Fiber optic cables
Network interface card )NIC)

19.(a)
Define feasibility study as used in system
(2mks)
    (b)
State four devices under direct control of the operation system




(2mks)

      (c)  Briefly describe the following types of computation errors;




(3mks)


-
Truncated


-
Transposition

.


-
Transcription

   (d)  Explain THREE most commonly used coding schemes





(3mks)

   (e)  Distinguish between online and real time processing





(2mks)

.

  (f)  State one advantage and two disadvantages of command line interface.



(3mks)

.

 20. (a)
Explain three communication services offered through internet.




(3mks)

        (ii)
  Describe the following internet terms.







(2mks)



Links  


URL   -  
.

        (b)
  The following is a spreadsheet relating to a farmer.

	
	A
	B
	C

	1
	Crop
	Amount
	Not viable

	2
	Maize
	150
	Not viable

	3
	Bean
	300
	Not viable

	4
	Cashew nuts
	850
	Moderate

	5
	Cabbages
	1036
	Viable


(i) A function =IF(B2<200 “Not Viable”), If (B2>300, “moderate”), IF (B2>1000, Viable”)))

Give the appropriate result returned in cells C2, C3, C4 and C5



(2mks)
       (c)  Text can easily be selected using a mouse in word processing.  How do you select;


(iii)
Multiple paragraph










(2mks)


(iv)
Vertical block of test
.






     (d)
Distinguish between









(2mks)


-  A window and an orphan in word processing
-  Cut and copy commands.

.

     (e)  Give one purpose of drops caps on a text paragraph





(1mk)

     (f)  (i)
What is an expert system







(1mk)

.

           (ii)  Give two application of experts systems






(2mks)

Statement





No





Yes





Condition





Statement





Condition





True





False



































